MODULE 2 – Turning
Unit 10 – Turning and Assembling

              Sliding Fits and Interference Fits
Questions
1. What is the most common Limits and Fits system used in industry?
2. Explain briefly what the Hole Based system is?
3. In order to permanently assemble a turned shaft into a reamed hole, what type of fit is required?
4. Explain how an Interference Fit is achieved by the application of heat.
5. Explain the following terms: (i) Limits of size and (ii) Tolerance. 
Answers

1. The Hole Basis system is the most widely used system and is more cost effective. 

2. In this system one size reamer can be used for a particular hole size and a range of fits can be produced by varying the shaft limits, which can be turned or ground.
3. Interference fit.
4. One method of assembling interference fits is by heating component with the hole, which expands and allows the shaft to be pressed in place. When the component cools, it contracts and locks securely onto the shaft
5. (i) Limits of size: These are the maximum and minimum sizes of a dimension, which is indicated by the tolerance of the dimension.                                        (ii) Tolerance: This is the difference between the upper and lower limits of size.
